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Piecewise Quadratic interpolation:

F(k) = a*x(k)"2 + b*x(k) + c
45dmz30m35emo: a, b, c

359Mm3e900LSL A5dM30Ygbmo FaMEowgdo
Forward scheme: F(k-2), F(k-1), F(k+1)
Backward scheme: F(k-1), F(k+1l), F(k+2)
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& M6 3domdgb AMo3303)o Bmbd30900:
polar

Q©535¢90s 5.1.

H0Eb30000 FgMEgdOL 39dmygbgdom gsdmomgswmgm F(¥w) = 2 +sin(wy — 7/8) guwbdzool 306390 Gogol
Dom3mgdmo G(p) = dF(p)/dy 390G MH0 Fotdmgdmwol (G2) ©s bmo FgoEHowosbo Foedmgdmaols
(G'5) 3590yg96980m, HMEILsG £2=4 ©s @ ©EOLIOYGHWI 399EMOT0 FIMEH0EGOOL B3MEI6MdS Ny = 0.
ao0momgzgogm  F gobdsool  3gmeg  Mogol  (omdmgdwmado H(p) = d’F(p)/dy’ 396 MMo
Fo63mgdeols (H2) s bmo §96¢E0@0sbo Goedmgdemamols (Hs) as8myqbgdoom.

Gz25 39969000 500a0bgm Ny  FgdEGHowol 8Jmby Lzs5 39d@m®gdo bmwmgsbo  0b¢gm3memsgool
245dmy9gbgdoom.
Gz5  399&HMOP0EG  s0sa0bgm Ny  §oBEHowol ddmby Mzs5 39d&HmO900 68030 0b6EIMH3MmEs3gool
2459mygqgbgdom.
H2s5  39d3Hm6900056 s0s@a0bgm Ny §9OGHowol 8dmbg Nzs 39J3Hm®gdo bmemgebo 0bEgdM3messool
245dmy9gbgdoom.
Hzs5  39d3Hm900056 oswo©yobgm Ny  §oaOGHowol 9dmbg Ozs5 39dBHm®9d0 §6g030 06¢gmH3m@sgool
2459mygbgdom.

59390 30 IO YdO:
30639 24659303D9: L2, Ls; 9gmeq aMo5303D9 M2, Ms; d9bsdg g695303%9 N2, Ns, dgmmbyg a0100303%9 Oz, Os.
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W56M56550L 3mobmdo:
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Q”()&ﬁ)bBﬂOb LOOSHBOLM 3(“)@06(‘)6060: (a) Lagrange polynomials

(2 =Ty (x—m) (r—x) (@—x5) (-2
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dogooomo 1.

530000 f(x) = x° gmbd300L 3 FgdEowo:
To = 1 flzo) =1
ry =2  flzy) =4
T2 =3  flz2) =9

535300 0690306090 34964305 ©ogMsbgol 3meobmdols godmygbgdoo:
L(z) =1 T — 2 I_3_|_4 r—1 1:—3+9 r—1 -2
T 1-2 1-3 2-1 2-3 3—1 3-2

:IZ.

953500 2.

530000 f(x) = X° g969500L 3 FgoEHowoO:

Ty = 1 f(I.D) =1
r1=2  flz)=28
2o =3 flza) =27
535300 06 9M3Mm0609w0o 36J305 ogMsbgol 3meobmdols godmygbgdoo:
L(z) =1 r—2 x—3 8:1:—1 Tr—3 o7 r—1 -2
) -2 1-3'°'2-12-3"°""3-13-2

— 622 — 11z + 6.

n §9m@GHowo: (n-1) Gogol 3mwobmdo®o 0b@Egmdmmsbd)o;

3360mglods305 0bGHIM3MES3000:

*  3m@0bmIomEo 536:MmJlods305 BoJloMGOMO FgMEH0wgdom;
*  3m0bmdol Mool 3argdol s3MMmJLods309;
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533560l 565¢r0BMOO G3METs:

IT_L m?_z ry; 1 €1 751
IS‘_]‘ _'1‘.?2?'_2 To 1 €2 o Y2
! 1 . :
—1 n—2 i
Ty Ty Tn 1 €n Yn
2459myqgbgdo:
. polyinterp.m
>> v = polyinterp(x,y,u);
>> plot(x,y,"'0o",u,v,'="); function v = polyinterp(x,y,u)
>>
Nx = length (x);
o , , ‘ , , , , Nu = length (u);
v = zeros (1l,Nu);
] for k = 1: Nx
sl i w = ones (1l,Nu);
for 3 = [1:k-1 k+1:Nx]
r 1 wo= (u=x(3)) ./ (x(k)=-x(J)) .*w;
gl ] end

v = v + w¥y(k);
end
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2093930 063gH3mmd300L 3O:Mddgdo

AP elesle}

>>

>> x = 1:0;
>> vy = [16
>>

>> u = .75:.05:6.25; 167
>> v = polyinterp(x,y,u);
>>

18 21 17 15 12]; Pl

Q5354905 5.2.

polyinterp gubdzool go8mygbgdoo dmobwobgm (-1, 1) 0b@gemzswdo 5 mdzgbl doge dgmBgmero
0903006 ogM6:50L 3mEobmBosmo 0bEgM3Mms300 39d@mMdo:u = (-1:0.1:1);
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MB56-9056 O 5030 0bEHIMH3MEs305
65%y393)900Log96 Fgagbowo ggubdsos - spline

65$9393-650939¢) 965¢00B M0 BMbJ309, H®MIoms3 FglodEgdgeros 0bEgMzswdo bydoldogtmo FgMEHowol
SQEYI5?;

Piecewise linear interpolation

22
T ST < Tpy

20+ .
Yk+1 — Yk
i1 — T 181 4

L(z) = yr + (= — zx)

14f -

12 E
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056-99056 370MM0 gMdo@wo 0b@gM3mwogos (pchip)
0639M3mabEo F9OGHowgdo: (X1, Vi)
29056-49956 370490 06EHIO3MEs30G0 gubdzos: ¥ = P(x)
069635¢00 MM dmEgde F9OEGH0wl dmcmob:
(3350 0b63)9M35¢L dogbood:

0639630 96E0l IbGMOL 3mbol Tgzzoligds:

MO 063G JO3MWIHE 9O G0l ol 06@E9gM35¢080 39909H0 3meErobmdosero (spline):

3hs® — 253 Y 3he® - g™
P(z) = — 5 Ykt 73 Uk
200 )L e
T i PR e PN
h? h?

0696353000 Bbd300L 36033690 Mds g8mMbzgzs 063BHGM3MEsbE)
DodGHowgdol 3609369 md90L: 18]

P('T'k) = Yk, P{Tk+1) = Yk+1, 161
P(zy) = di, P'(zr41) = drsa.

560 39dM0 3obmdo (s-0b, 5649 X-ob JodsOrm).
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d9L5dgdge0s b35olb3s 083¢ganbEo30s. 30EEMTYDO: IHBEOOL 3Mbol Tgzz5Lgds OLIMYEGH I
06@&9m3msb@do (dx).

P(z) = yi + sdi. + s%cr + s°bi,

3::5;; — Qdk = d;;+1 pchip
CL. = - 21 : . : .
5 18
bk:d}:_gék +dk+1. i &/
h? i3
2 4 6 8
g .
0
-5
2 4 6 8
pchip @ dolo Bsdo 56O BMEO Fomdmgdmeo. i
0 —\ / . / i
_20 L L L L
2 4 6 8
30 e
0 . —
-30 . . .
Q53540905 5.3. 2 4 6 8

09500069  BoboBBg dmyzsboer FaBGH0wgdbBg MOb-mdb  3MOMmO  0bFBHIM3MmEsgool 1,2 s 3 GogoL
bseob Mo  [oMmdmgdmmgdo 3 mo  0bGHYM3MMEomMo  gbdigool Mosbgzom  39bGH®IIHoGOo
Do63m90ols Igom©o0o 5090 3 HoMdmgdmenls.
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pchiptx.m

function v = pchiptx(x,y,u)
SPCHIPTX piecewise cubic Hermite interpolation.

h = diff (x);
delta = diff(y)./h;
d = pchipslopes (h,delta);

o\°

Piecewise polynomial coefficients

n = length(x);
c = (3*delta - 2*d(1l:n-1) - d(2:n))./h;
b (d(l:n-1) - 2*delta + d(2:n))./h."2;

o\

Find subinterval indices k so that x(k) <= u < x(k+1)
k = ones(size(u));
for 3 = 2:n-1
k(x(3) <=nu) = J;
end

o\

Evaluate interpolant
=u - x(k);
= y(k) + s.*(d(k) + s.*(c(k) + s.*b(k)));

< 0
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pchipslopes.m

function d = pchipslopes (h,delta)
PCHIPSLOPES Slopes for shape-preserving Hermite cubic
pchipslopes (h,delta) computes d(k) = P'(x(k)).

o\©

o\©

o\©

Slopes at interior points
delta = diff(y)./diff (x).

o\

% d(k) = 0 if delta(k-1) and delta(k) have opposites
% signs or either is zero.
% d(k) = weighted harmonic mean of delta(k-1) and

o\

delta (k) if they have the same sign.

n = length (h)+1;

d = zeros(size(h));

k = find(sign(delta(l:n-2)) .*sign(delta(2:n-1))>0)+1;
wl = 2*h(k)+h(k-1);

w2 = h(k)+2*h(k-1);

d(k) = (wl+w2)./(wl./delta(k-1) + w2./delta(k));

% Slopes at endpoints

d(l) = pchipend(h(l),h(2),delta(l),delta(2));

d(n) = pchipend(h(n-1),h(n-2),delta(n-1),delta(n-2));
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pchipend.m

function d = pchipend(hl,h2,dell,del?)
% Noncentered, shape-preserving, three-point formula.

d = ((2*hl+h2)*dell - hl*del2)/ (hl+h2);

if sign(d) ~= sign(dell)
d = 0;

elseif (sign(dell)~=sign(del?)) & (abs(d)>abs(3*dell))
d = 3*dell;

end
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6 9000560 06EgM3MsbE ol 0bEghdmersool 89ga9d0

Full degree polynomial interpolation Piecewise linear interpolation Shape-preserving Hermite interpolation

056-m056 3900 9MHTOGH IO 06BHJMH3MS300:

+ Bogargdo ,,50m350Mbgd0"
+ b EMmbmo dmbszgdgdo
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Q535¢ng05 5.4.

55390 ®d3960 bgwols gmbJzos 3MdMMmo 0bEGHIM3MEoE00l  25dmygbgdom. godmoygbgod doglodmd 30-40
Ls0BEBHIM3MeEs30M M EGowo. dorgdmwo IMmEo vbws 9903939l 1000 HgdEowb.

25000949690 350589GHO0 0BEIO3Me30s: X=X(1), Y=)(1),

Matlab-8o {96@0gd0b 0b@HgMod@omeo 899zs60L 3meo:

figure ('position',get (0, 'screensize'));
axes ('position', [0 O 1 1]);
[x,y] = ginput;



